INTERNATIONAL INDIAN SCHOOL, RIYADH
Academic Year 2010 - 2011
VI - Mathematics
Chapter 2 – Playing with numbers :

I)Choose the correct answers :

1. HCF of two consecutive even numbers 

a) 1
b)2
c)3
d)4

2. LCM of two Prime numbers is 

a) their sum

b) their difference

c) their product

d) none of these.

3. The Prime factorization of 126 is

a) 2 [image: image2.png]


 2[image: image4.png]


 3[image: image6.png]


 6

b) 2 [image: image8.png]


 3[image: image10.png]


 3[image: image12.png]
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c) 2 [image: image14.png]


 3[image: image16.png]


 3[image: image18.png]
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d) none of these

4. The fundamental theorem of Arithmetic states that :

a) every number greater than 1 has many factors.

b) every number greater than 1 has exactly one Prime factorization.

c) every number greater than 1 has many multiples.

d) none of these

5. The number which is divisible by 9 is

a) 7802

b)8100
c)3271
d) none of these

II) Find the value of

        a) 4 + 3[image: image20.png]


 (5 + 3)

         b) 6 [image: image22.png]


 8[image: image24.png]


 25[image: image26.png]


5 +3

         c)12 [image: image28.png]


(4 +2) [image: image30.png]


 3 [image: image32.png]


 5 +7[image: image34.png]


(3+1)

III) Simplify :

         a) 125 [image: image36.png]


 [18[image: image38.png]


{28 [image: image40.png]


4[image: image42.png]


(18[image: image44.png]


30[image: image46.png]


5)[image: image48.png]


2}]
         b) 5[18 +{3+4(5[image: image50.png]


2)}]

        c)130[image: image52.png]


[100[image: image54.png]


(2 of 5)[image: image56.png]


{8[image: image58.png]


}]

IV) Using divisibility tests, determine which of the following number are divisible by 2,3,4,5,6,8 and 9.


a) 14560
b)726352
c)12159
d)12150
e)639210
V)Determine HCF of numbers given below by Prime factorization method.

a) 36, 84

b)34, 102

c)27,63

VI) Determine HCF of numbers given below by continued division method.

a) 28, 36

b)880, 1375

c)255, 1620
VII) Determine LCM of 

a) 16, 24, 40
b)18, 24, 32

c)32, 56, 46
VIII) Write the numerical expression for each of the following using brackets :
a) Nine subtracted from the product eight and seven.

b) Seventy two divided by the sum of six and three.

c) Four multiplied by the sum of two and five.

IX. 
1) Express 71 as the sum of three odd primes.

       
2) Express 24 as the sum of twin Primes.

            3) Find all Prime numbers between 70 and 90.

X.    1) Find the least number which when divided by 6,15 and 18 leave  
            remainder 5 in each case.           

2)Find the least number which divided  by 12, 16, 24 and 36 leave.     remainder 7 in each case
3) Find the greatest number which divides 1,628  1,736 and 268 leaving remainders 8, 11 and 13 respectively.

4)Find the largest number which divides 146, 254 and 272 leaving a remainder 2 in each case.

5) Find the smallest 4 digit number which is divisibly by 18,24 and 32.
6) Write the smallest 5 – digit number and find its factors.

7) For each of the following pair of numbers , verify that


LCM [image: image60.png]


HCF = Product of the numbers.

(i) 21, 28

(ii) 231 and 273

(iii) 36, 90
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Chapter 3 – Whole numbers:
1) The smallest whole numbers is __________________
2) The predecessor of 10049 is _____________________

3) The natural number whose predecessor does not exist is ____________________

4) The additive identity for whole numbers is _______________________

5) ( 7 + 8) + 3 = 7+(8+3) ____________________ property.

6) ___________________________is the successor of the biggest 3 digit number.

7) _________________________ is the identity for multiplication of whole numbers.

8) Division by zero is ________________________________

9) ___________________ + 2417 = 2417

10. 52 [image: image62.png]


 18 = 18 [image: image64.png]


 ([image: image66.png]


 +[image: image68.png]


)
11. In a division sum, the dividend , divisor and quotient are the same . Which is that no ______________
12. 420 [image: image70.png]


 132 [image: image72.png]


420 [image: image74.png]


32 = 420 [image: image76.png]


  (                         )

13. 63 [image: image78.png]


 106 = 63 ( __________ + _________)

14. The value of 13 [image: image80.png]


 0 is __________________

15. All natural numbers are whole numbers ( True/ False)

16. How many whole numbers are there up to 80 ?

17. Whole numbers are closed for division (True / False)
18.  How many times does the digit 4 occur in the unit place in all the natural numbers up to 100?

19. Write the successor and predecessor of each of the following numbers :

a) 7000

b) 1899
c)40040
d)69999
e)64494
f)3300301

20. Write the next 3 consecutive natural numbers :

a) 410436
b)48998
c)73299

21.Find the following using number line :

a) 6 + 3

b)12 [image: image82.png]


5
 c)6 [image: image84.png]


 2
d) 3 + 4
e)4[image: image86.png]


1        f) 4[image: image88.png]
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22. Find the following sum by suitable rearrangement :
a) 729 + 123 + 877 +271

b) 594729 +550023 +6912037+732981
c)14 + 438 +486 +162

d) 2062 +353 +1438 +547

23. Find the value of the following using properties of whole numbers.

a) 786 [image: image90.png]


 84 + 786 [image: image92.png]


 16

b) 242 [image: image94.png]


 102

c) 4 [image: image96.png]


 821 [image: image98.png]


 25

d) 741 [image: image100.png]


 124 [image: image102.png]


 741 [image: image104.png]


 24

e) 370  [image: image106.png]


 6 + 370 [image: image108.png]


 3+ 370

f) 998 [image: image110.png]


 126

24. The annual fee charged from a student of class VI in a school is SR135 and class VII is SR 165. If there are in all 235 students in class VI and VII. Find the total collection.
25. On dividing 43, 621 by a certain number, the quotient is 1,246 and the remainder is 11 . Find the divisor.

26. What is the smallest 4 – digit number that is exactly divisible by 21.

27. The product of two number is 118275 . If one of the number is 1425, Find the other ?

28. A dealer sold 155 radio set on Monday and 245 on Tuesday. If the cost of one radio set is Rs. 3050. What is the total amount is collected during these days.
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Chapter 4– Integers
1. Using number line find the following :
i. [image: image112.png]


3+5

ii. [image: image114.png]


4+[image: image116.png]


3

iii. [image: image118.png]5+ —



2

iv. [image: image120.png]-5+3




v. [image: image122.png]


3[image: image124.png]


([image: image126.png]


2)

vi. [image: image128.png]


([image: image130.png]-2)




vii. −4[image: image132.png]


(+1)

viii. [image: image134.png]-7 +4




ix. [image: image136.png]3 more than —



5

x. [image: image138.png]


2 more than[image: image140.png]


3

xi. [image: image142.png]-2 less than — 4




xii. [image: image144.png]3 less than —



2

xiii. [image: image146.png]


4 less than [image: image148.png]



2. Evaluate the following :

1. [image: image150.png]-25+72




2. [image: image152.png]


75 +[image: image154.png]


32

3. 25 [image: image156.png]


79

4. [image: image158.png]-32 — (-58)




5. [image: image160.png]48 —



([image: image162.png]


92)

6. [image: image164.png]-85+ 78




7. [image: image166.png]


95[image: image168.png]—-99




8. [image: image170.png]


105+105

9. [image: image172.png]


28[image: image174.png]—-108




10. [image: image176.png]


203+702

11. [image: image178.png]


405+([image: image180.png]—208)




12. [image: image182.png]-300 — (—215)




13. [image: image184.png]500 —



700

14. [image: image186.png]


200+150

15. [image: image188.png]


173+[image: image190.png]—-293




16. [image: image192.png]


28 + 75 +[image: image194.png]—56 + —28




17. [image: image196.png]-108— (—210) — 408 + 709




18. [image: image198.png]+739 — 710— (—210)+(—80)




19. 709 + 483 [image: image200.png]-1009 + (—403)




20. 208[image: image202.png]—[-73 — (43 — 78)]




21. 513[image: image204.png]—{—89—[58 — (7 -8 —10)]



 }
22. [image: image206.png]- 403 + [703— (—48)+(—1085)




23. [image: image208.png]- 4532 + —7351 + 1532




24. [image: image210.png]728— (—425)—9285




25. [image: image212.png]-58+ 98 — 40




26. [image: image214.png]


403[image: image216.png]—(—375) + 102




27. [image: image218.png]—459 — 729— (—358) + —2085




28. [image: image220.png]—78 — (—532)




2. Use ‘<’ or ‘>’ or ‘=’ to fill the box to get the

1. [image: image222.png]-138 —(-138)




2. [image: image224.png]-728 0




3. [image: image226.png]-238 — 347




4. [image: image228.png]-41




5. [image: image230.png]32

—78




6. [image: image232.png]-97

—179




7. [image: image234.png]—-79




8. [image: image236.png]-438 —458




9. [image: image238.png]48

408




3. Complete the blanks :
1. [image: image240.png]-28,-38,-48,





2.  [image: image242.png]—287,-277,-267,





3. [image: image244.png]- 589,-586, —583,





4. [image: image246.png]-13,-8,-3,





4. Write the opposite of the following :
1. 739 above sea level.

2. Going 730m towards north

3. [image: image248.png]-413




4. [image: image250.png]+705




5. [image: image252.png]Depositing Rs 750.




   5. Fill up the blanks :

1. ___________________is neither positive nor negative.

2. _____________________is the smallest positive integer.

3. _______________________is the greatest negative integer.

4. All positive integers are ___________________than zero and negative integers.

5. All negative integers are __________________ than zero and positive integers.

6. [image: image254.png]-8+




7. [image: image256.png]-78 +

=— 68




8. [image: image258.png]48 +





10. 69[image: image260.png]+56





      11. [image: image262.png]-32 4




      12. [image: image264.png]+100 +





      13. [image: image266.png]43 +—-35




      14. [image: image268.png]52




      15. __________ [image: image270.png]—(-9) =61




      16.[image: image272.png]52




      17. [image: image274.png]-27 + =-35




      18. –[image: image276.png]


 
[image: image278.png]


19. [image: image280.png]58 +
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 FRACTIONS
Q1. Fill in the blanks.

1. An improper fraction of 8[image: image282.png]


 is ___________

2. [image: image284.png]



3. The equivalent fraction of [image: image286.png]


 having numerator 24 is _________

4. Fractions with same denominators are called _________

5. Which is greater    [image: image288.png]



6. What fraction of a day is 6 hours?

7. Is [image: image290.png]


  equals to    [image: image292.png]


 ?

8. A fraction is said to be in the simplest (or lowest) form if its numerator and denominator have no common factor except ___________.

9. In an improper fraction, the numerator is _____________ than the denominator.

10. The simplest form of  [image: image294.png]


 is _______________

Q2. Compare the following. [  <, >, = ]

1. a) [image: image296.png]



b) [image: image298.png]



c) [image: image300.png]



2. Show [image: image302.png]35
> gand on a number line.




Q3. Express as mixed fractions.

a. [image: image304.png]



b. [image: image306.png]38




c. [image: image308.png]



Q4. Express as improper fractions. 

a. [image: image310.png]



b. [image: image312.png]



c. [image: image314.png]



Q5. Find the equivalent fraction form.

a. [image: image316.png]99




b. [image: image318.png]



c. [image: image320.png]24




Q7. Find the equivalent fraction of [image: image322.png]s



 with numerator 35?

Q8. Find the equivalent fraction of  [image: image324.png]45
54



 with numerator 5?

Q9. Write the natural numbers between 50 to 65 what fraction of them are prime numbers?

Q10. Solve.

a. [image: image326.png]12

- lw




b. [image: image328.png]1,483
20+ 45




c. [image: image330.png]



d. [image: image332.png]



e.  1 -[image: image334.png]



f. 4 – [image: image336.png]



Q11. Raju had [image: image338.png]


  of a cake. He gave [image: image340.png]


 out of that to his sister. How much is left?
Q12. Meena bought [image: image342.png]


 kg of vegetables and Reena bought [image: image344.png]


 kg of vegetables.  Find the total weight of vegetables bought by both of them.
Q11.Find the sum.
a)[image: image346.png]



b) [image: image348.png]2= +1—+2
st lets




c)[image: image350.png]82452
5 +53




Q12.Subtract.
a)[image: image352.png]



b) [image: image354.png]



c)[image: image356.png]subtract % from 33




d)Subtract [image: image358.png]4
5 from 6.
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